goddoooooooooobbbibb
0000000000000 000000000000

oooooooDo
gbobgoboooboobobooboobobo
gboobooobmoooobobooooomao
ubobooobooooboboobboooooog
ugbbooobooobboobbooooboog
gbooboboboooboobgoboooboboon
gobogobooobboobobooooboog
uboboooboooobboobboooooog
ubbooobooobboobbooooboog
gbooboboboooboobgoboooboboon
dddooooooooooooobobson
OO0O0D0OOD1emg7100g0 000 0D0OOOODOO
oboobobooboooooboboooogiisregdn
w50 0ogooooobooboooogsognd
gbooboboboooboobgoboooboboon
gobogobooobboobobooooboog
uoboooboooboooboooobooobood
ubbooobooobboobbooooboog
gboboobooooooobgobooon
ooobooon
oooooooboboogos3oooooogon
OO0004.80000000013mg/100g0 000
gbobdz20eemb 00 0DO0OO0DOOOODO
gobogobooobboobobooooboog
goog
goooooo
10 0DO0oDbOoboooon
206cMD O 000DOO0ODODO 040 1400
oboboooon o090 24mg/100g OOODODOO
gogbobooobbooooobobboboOdo.smm
gboobgoooooboboooon
2000000000000
gobooobooooobooobboooboo
goobooob-200mv ODOO0O0O0O0OOOOO

obooooobooooo oood
gbooboooooboo obgoob boood

goood

udoooun ioooooogoggoaoo
gbooboboobooooobgobooobooboon
gooobooooobobo2-o0obooon
gbooboooobooooboboooooo
vo0obooooooooon
gbobgoooooobobooboobobog
gobooobooobbooboboooboog
ubobooobooooboboobboooooog
udooooooooobobobobD 200000
gboobobooooboobgooboooo 200
ojooooooo 3goooogogoooo
ubooog 0oo0o00boobooooboobooobood
ugboo oo Oboonbobooon 20000
Mooboboooobbooobobbooon
gobbooooooboooobboooo 1™
gbobooobooobboobobooooboog
gbobooobooooboboobbooooboog
040 110000
4000000000
gobooobooooobooobboooboo
uboooooboboooooobooonon 10000
ubbooobooobboobbooooboog
oboobooooooboooog
50000
gbbooooobooboooobooobbooon
ubb-00bodg-b0boaobboooobood
-00bgbooooobooboobooooobon
gobogobooobbooobooo
oooooo
oooooobd - O0O0OODOODOO
ooobooooobobooboboobobooon
goooo-oooooooooooo
uooooobooooboobooooon
goooooboooobooboboooon



- -— 00 |_
Hoo 700 r3
O | (6/8) —@— O O6em
g -5 - L, s
O —Z&— Fel.Okg/10a 600 o
0 -100 o e
0 -1007] 8/13 =
5 a3 G B o e =
O E500 ) F1.50
O | = =
g -150 = L, ]
g 5 4001
-200] - 0.5
300~ P —
-250 T T T T S o S £
0 20 40 60 80 100 = -3 =
goooo
%
0 1.00000000000omestoong booooo 4 oo

U2200d00b00boobboobooaboda
gboogbgbobooobogboooooan
Fe0.500 00 050 0Felo0 000 1.00

600 Si1000] 000000 0.10
e 0D Fet+tSiO O OO 1.00-+0000000.10010a0 000
o OO
O
g
gSSO—
= 01.00000000000000000000000
(]
= 0 0 0 O kg/10a0 oooo Ooo
= 500+ 00 00 00O  kg/l0a
m O 150 465 1050 494 1.00
Fe 158 485 1074 529 1.07
° Fe+Si 160 496 1120 530 1.07
450 T T T Si 159 485 1154 513 1.04
1 1.5 2 2.5 3 -
Shooooooon FeO 000 1t/10a0 Si0 00 OO 00.5t/10a
O300000000000000
020000000000000
oo oooao ooooo ooo oooo oo oooa
oo ooooo
ooooa Oo0o00o0o0ooooboooao oooooo oo ooo 000 - 00 ooooa
gooooi1.o000 ooo ooooa
goooo/00000500 ooooa ooo 000 - 00 oo
Oo0o0000o0oo0oooooaOoao oooo ooooooo
oooooo
0000000 o00002.0%00 oooooo oo ooo oo oo oo
gooooO/000001000 ooo
0000000 10mg/100g0 O ooooa
ooooa goooo0z2.o0000 ooooa ooo oo oo oo oo
goooo/000001000 ooo

00000016mg/10090 O
u]

pooooooooOoOoOoOOoOOO0OO0OO0OO0ObOOOOOOOOODOOOOO



